
Grade 7 Mathematics Spactial Sense - Volume of Prisms 

Volume of Prisms 

The table has five columns: Base dimensions, Three dimensional object, Area of the base, Height of the prism, and Volume of prism in   cm   
3

  . The first row is a triangle with base: 4 cm and height: 6 
cm. The Area of the Base is the Area of a triangle: A = ½ b x h A = ½ (4)(6) A = (2)(6) A = 12   cm   

2

   The height of the prism is 10 cm. The volume of the prism is area of the base x height;
V = area of base x height V = (12 cm²)(10 cm) = 120   cm   

3

   The remaining examples display the image of the base with its measurements and the height of the prism but columns for area of the 
base and volume of prism in cm3 are blank.

Volume of prism in centimeters cubed

Base 
dimensions

Three 
dimensional 
object

Area of the 
base

Height of the 
prism

Volume of 
prism in cm

Base: 4 cm 

Height: 6 cm 

Area of a 
triangle: 

A = ½ b x h 

=½ (4) x 6 

=2 x 6 

= 12   cm   2  

height of 
prism 

= 10 cm 

V = area of base 
x height 

= 12 cm   x 10 cm  2

= 120 cm 

3

equals twelve centimeters squared 
times ten centimeters

equals one hundred and twenty 
centimeters cubed

Base: 8 cm 

Height: 8 cm 

Height of 
prism 

= 8 cm 

3
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Volume of Prisms 

Side lengths: 8 
cm 

Height of 
prism 

= 15 cm 

Base 1: 12 cm 

Base 2: 6 cm 

Height: 4 cm 

Height of 
prism  

= 10 cm 

Circle: 
Diameter of 16 
cm 

Height of 
prism  

= 16 cm 
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